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A client comes to you with the following problem. His medical device company
purchases monofilament fibers from a supplier. These fibers need to be between .09
and .11 mm in diameter to be usable in the product. He has a sample of 40 fibers and
has measured the diameters obtaining a mean of .102 and a standard deviation of .01.
One of his employees took STAT 3011 and computes a 99% confidence interval for the
mean as
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This employee concludes that with 99% probability, the fibers will be within our toler-
ances.

Here are some possible questions for consideration in your discussion. Did the
employee do the correct analysis? If so, was his conclusion correct? If not, what should
have been done? Do the methods depend on any assumptions? Are these assumptions
met? What questions would you ask about the sample of 40 fibers? What general
class of methods is used to make inference about proportions of a distribution from a
sample? How do you explain things to the client?

The file intervals.txt on the course website contains the actual data, in one
column with the column heading y. You may wish to do some analysis on the data to
aid your presentations.
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